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17U/115/16(Set-l)
No. of Questions : 150
oAl #) T8 - 150
Time : 21 Hours ] [ Full Marks : 450
Wiy : 21 q] [ qorfy: 450

Note: (i) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question, |
IS Tt Bt v wer w1 wwe B wdw v 3 () st @R o
T TOv 3 IV UF SiF P oNe) TS ARG ¥ @ qe

- B |

(i) 1f more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

IR veite dofors SR UE IR @ fawe i @), of fAeca ®8 S <
(iii) This paper comprises of three Sections : Physics, Chemistry and Biology.

Each section contains 50 questions.

ﬁmﬂﬁwwmi:ﬁﬁﬁﬁmﬁ.mﬁﬁﬁﬁﬁﬂﬂﬂﬁﬁim

@vs ¥ 50 v €|
SECTION - |
Grs - |
. (PHYSICS)
(s fora)
1. The mass & danfit:y plasolid sphere are measured to be (124 + 0.1) kg and
(4.6 +0.2) kg/ m” . Calculate the volume of the sphere with ereor Jimits -
(1) (2.7£0.1) m* | 2).27+014) m?
(3) (2.7+0.2) m’ (4) (27 +024) m3

(3)

-
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17UM15/16(Set-l)

& B 7O B T o) B HAE: (124 + 0.1) kg a9 (4.6 + 0.2) fsar/ B &
el & IRy BT g, Ffe W afde

(1) 2701)%°> 2) (2.7+0.14) %>
(3) (27+02) %3 @) (27=024) A3

2. Whal is the percenlage error in delermination of time period of a pendulum

where length and acceleration due to gravity are measured with £ 1% & = 2%
errors 7

(1) 1.5% Q) 25% (3) 3.5% (4) 4.5%

W ddd & JEdee d FuRm ¥ gRdga R @@ el wel wwd o
ORI TR H Jf e + 1% a1 +2% & ? |

(1) 1.5% (2) 2.5% (3) 3.5% (4) 4.5%

3. A thin wire has a length of 21.7 cm and radius 0.46 mm. Calculate the volume
of the wire to correct significant figures.

(1) 0.1443 em?® | ) 0.144 em?
(3) 0.14cm? (4) 0.2cm’

VF gael TR @ g 217 ¥ awn Ao 046 B B am @ amae @t TR
HRFT whY welF aw! & w=nt ¥

(1) 0.1443 wh? (2} 0.144 FH°

(3) 0.14%R3 (4) 02383
4. The dimensional formula for the coefficient of viscosity :
(1) MLT 2] @) [M“’LT“T_
o) [ML“T‘Q] (4) IML‘IT‘]J
] MLt
@ T ] @ | )

@ i)

@ ML 2]
(4)

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



17U/115/16(Set-1)

- : _
9. A force F be acting on a body free to rotate about a point O and let r the

/
position vector of any. point P on the line of action of the force. The torque | 1*1
N4

of this force about point O is defined as (f — j +6k Jx (2§ +3] -k} is :
(1) {17F +13] +5%) N-m

) (-17§-13} +5k) N-m

(3) 17§ -13] +5k) N-m

@ {177 -13] - 5) Noms

Qﬁﬁ.r?wmﬁﬁﬂawwﬁﬁ0$mqﬂ?$ﬁﬂmﬁaﬂiﬂﬁl
f& g P &1 g0 r ® o w o@ wra &) 39 g w o™ aren aw-g (1)
=riga & (h—;+6ﬂx{2;+3;-é)

() {177 +13; + 5k) e
(2) Qw? -1'3F+5£)-_1‘E7F—3ﬁ3'\'
(3) (177 13 + 5k} e

(4) (17F-13] - 5 ) mgeevdre

6. A ball is thrown upward from the ground with an initial speed of u. The ball is
at a height of 80 m at two times, the time interval being 6 S. What is the value of

u, taking g = 10 m/ sec? ?
(1) 15m/sec (2) 25m/sec (3) 4d=aisec (4) 50 m/sec

CF a1 Y B IRE T u TW SR dE W ) O 80 Hev %) S w o
vl # e & Torwe T 6 s ¥ g WA 10, 8 4 7y, ar A
a2 g 7 -

(1) 1541/9 (2) 25"/ 3) 409/3 @) 504/&

(3) PTO.
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17UM15/16(Set-)

7. Velocity time graph of a particle moving in a straight line is shown in the
figure. Which one is the corresponding displacement time graph of particle if
s=0whent=0?

TS W ¥ R T1RE= $9 &7 97-994 T

v (m/sec)
S\
> t
an

(3)

™~

~—>t

t (sec)

- (2

(4)

ek Rar g1 2R t= 0w s =0
_ &, 98 qEId R §H ure -ar en ?

>t

»

—_Dt

8. A system is taken from a given initial state to a given final state along various
paths represented on a P-V diagram. The quantity that is independent of the

pathis:

(1) Amount of heat transferred, Q

N

|

i
P @
f

%

\'

(3) QbutnotW

(6)

(2) Amount of work-done, W

(4 (Q-W)
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R e For arfbe s § S smaen § qga oxdl | @ S @
g g8 A o vy @ Fw iR T8 I @
xS

' 1
P
r
. @f

| >
wog v |
(1) FT RIFARRY @ H73T, Q () R ™ wrd @ e W
(3) Qs Wt 4) Q-W)

When two samples at different temperatures are mixed, the temperatime of the
mixture cannof be :

{1) Lesser than lower or greater than higher temperature

(2) Equal to lower or higher temperature ‘

(3) preater than lower but lesser than higher temperature

(4) Averageaoflower & higher temperature ‘
T ) ¥e e A W P ot 8, ae s @ @ T8 &
(1) ~od § 39 AR IfFan & afds

(2) =qFaw a1 IeHTH D TWEY

(3) A @ IR AT sNeam | w1

(4) g SR srftwe o7 o

For a surface molecules ; |

(1) the net foree on it is zero.

(2) there is a net downward force

(3) the potential érergy istess than that of a mglggule inside
(4) molecules are in vapour state |

g W IR o B e

(1) T W FA & B 7F LH B

(2) o@ 7@ A9 # AR T
(3) Rl Sl 1 49 F<R & 3 & gary § 77 @
(4) ooy g fRerfd & @

7
7) P.T.0.
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17U/115/16(Set-1)

11.

12.

13.

14.

A satellite is rem[vifg around the planet. The gravitational force between them
is varies with R™/2 swhere R is the radius of the satellite. The square of the
time period T is directly proportional to:

Ud 9ugE e g o) oRww wx W@ ® I A THawiT T R &
ITHAFURT 2, wef R wem @ Bowr 8 W@ = A ofwr @@ T @1 @

STHHRIURR I
(1) R? (2) R7/2 (3) R3/? 4) R>7

For a real gas (Vander Waals' gas), which one is true ?

(1) Boyle's temperature is % (2) Critical temperature is %

o a
(3) Triple temperature is % (4) Inversion temperature is =

aafar A (aimss ged D) & fay &fF g s 7

(1) &Fa WW%-W g (2) spilscien <1y ﬁ% En 8

(3) P a2 gen e (@) g e 2 @ @

The satisfactory theory of Brownian motion was invented by :

(1) Brown (2) Carnot (3) Einstein (4) Maxwell

s TRy @ Howed g 31 G fhe o

(1) &7 ) ‘@HT (3) IF~ACI (4) Hagd

The "normal mode of vibration for the given spring system may have the
frequency :

faﬁqﬁﬁmﬁaﬂaﬁwﬁmﬁiﬁmaﬁm%amﬁ%;

WL

" K k

: 1 [k 1 |:2k &
i pe @ o\ ) wVm ™

(8)
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15.

16.

17.

18,

17U/115/16(Set-l)

Calculate the work-done by the gas during the complete cycle ;
Q@ = ¥ Na gr1 B o w1 7 Raww 2w |

N
A
Pressure
o E;
A ¢
\;u- 2\}!1 )
. Volume —»
0 R @®% e L@ R

T‘}?D thin lenses havﬁlg optical powers of -12 D and + 8D are placed in contact
with each other. The focal length of the combination is : .

(1) +0.25am (2) ~025em . (3) =0.25m (4) - 0.25m

~12 SRICY &7 + 8 SRICX & & Udel IOl ol B TH-GWW § WA &N T
2| 39 WO At wima o 2 ;

(1) +0.25¥%0  (2) -0.25 ¥ (3) +0.25%0 (4) - 0.25 Ao
How focal length of a convex lens (refractive index 1.3) LhﬂngEb when it 1s
completely immersed in the liquid (refractive index 1.65)

(1) convex lens with same focal length

(2) convex lens with less than earlier focal lén'gtrr

(3) convex lens with greater than earlier focal length

(4) concave lens with changed focal length

U o (JUEIA@ 1.5), U9 &4 (q0aaie 1.65) ¥ g
@MW{M? ‘J q 65) % 0 ®Y A a1 &1 TED OFA

(1) IS N WA Wiww g0 @
(2) ST X0 T PHw 0 TR B o
(3) O o I BiEd g TBH &Y o §

{4) ¥aaS oE qe G wrweed H

In Young's double slit experiment, the expression for fringe width js -

@ e v A v A igd o o #:
(1) p=st- ) p=2 @) p=24 2 e
Dd
(9)

PO,
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17U/115/16(Set-))

18.

20.

21.

22.

In the minimum deviation case of incident light, which is the path of refractive
ray in the prism as in figure ?

3 ¥ oo s @ seufiEen @ qur § S i e o I & 2

Normal B
'l-‘ 1

(1) 1 (2) 2 (3) 3 (4) 4

An electric flux (¢) emerge uniformly in all directions out of a positively
charged conductor. If this conduclor is enclosed into a large metallic sphere
(container) the electric flux (¢') ;emerging from this metallic sphere can be
expressed as : .

UF yeere amaRT T1ee 8 dga dored (¢) wee S H o el § Sl g
g1 uft g8 adE ® T 9 ¥ i § v fw W A et 9§ fSeie de
ToleRT (¢ ) &1 AT B

(1) ¢ =0 (2) 0<d < 3 ¢ =¢ @ ¢ >

Which of the following results “in free space” is expressed in the units of
Coloumb ?

e & Q foamt 796 WO STer ¥ gerw @ w9 § we fn w #

(1) {E'*EF . : . 2) Cﬁg_;{;

(3 {Eﬁ (4) §{D.ds

‘The characteristic impedance (z;) of free space is ;

(1) 377 (2) 357 Q (3) 100Q (4) zero vhm

g T 1 afenere aRya (z9) B 8

(1) 3779 @ 37Q @10 ) A
(10)
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23. The Q-factor of a coil is the measure of its :

(1) mutual induction (2) self induction
(3) retentivity (4) selectivity
foell greell @1 Qo vy ¥ | Rbwra wras & 2

(1) 3Oy IRE@ _ 5 - (2) RFA

(3) arorEern (4) wrrerefrern

24. The grid of a triode affects the plate current in the following way :
(1) increases plate voltage |
(2) neutralises space charge
(3) enhances thermionic emission
(4) releases more electrons from the plate
e @ fire, @ie Rga am 1 fe @1 9 wifie o &
(1) <ic &1 e eI
(2) el s & Neenfag e
(3) TuEfE IR T
@) < A ot et Pem

25. Curie law % T = constant, relating ma etic sus otibili '
—— s tangc " isg:bewd b;e:phblhty (x) and absolute
(1) All magnetic substances
(2) Paramagentic substances
(3) Diamagnetic substances
(4) Ferrons
T BT FPraw 1 T = fRuars, e can - R
G F g 2, 3O wr«?mq:mﬂgm'w éxzri% i R
(1) o g gem}
(2) sggRay ugrlt
(3) fgraaiy ugrf
(4) W

26. The average energy of the classical oscillatar js :
fore=ra <ifers & stad ot & - |

1, | 3
1) kT 2) =kl =
(1) S < - kT @ gy

(1)
P.TO.
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27.

28.

Under the influence of weak magnetic field, normal Zeemann'’s effect might be
exhibited by :

FHAR gl &3 B WHIg H, AT OhE T e g ey g =i
e (2) He (3) Na (4) K

The de-Broglie expression is :

AT T AT # |
(U p= ;z (2) p= ’H (3) p ;—.i;i (4) p= B

29. What is the temperature of sink if the efficiency of heat engine is 50% and il

30.

takes heat at 0°C ?
R & = cgam 8 uﬁﬁasﬁﬂaﬁmwn%muﬁmmﬁa@%?
(1} 137°K (2) 137°C (3) 273K’ (4) 0K

Graphs which show how electrical resistance varies with temperature for
mel'a]lil: wire & carbon ?

R R
(1) T L / 2) l = \
—>T _ T
Etal Larbun Metal Carbon
R R
R F\ ] /T\ '
7 ]\k —/ . —/ k
=% L —T >T I
Metal o Carbon . Metal Carbon

alga?m?waﬁ?aﬁgamwa‘aﬁaﬁwﬂuﬁaﬁumz?

N/ NN

R P
e .
FEw  am

[ ]
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31. Which one show the variation of relative intensi ty of X-rays as their wavelength

(A)?
mﬁmﬁaﬁmﬁmmﬁ‘aﬂ?mﬁ-@m%mﬁweﬁ ?
i :
(1) ‘ (2)
>A . r
I ' 1
, ' I
@) (“*\ﬂﬂl (@)
= = > 2

32. Fromn=3ton =1 energy level of hydrogen atom, which one is correct
representation of ernission spectrum ? '

3ﬂn~1ﬁmﬁhﬁﬂfqaﬁm-mm’&?f

33. A parallel plate capacitor whose plates are 2.5 cm apart is charged to a potential

difference of 100V, The force ot a ‘test chargeofdul placed hetween the plates

18 :

TP WA ReH oy TR wRead 2.5 W
ﬁﬂwwm&mm%|qﬁma}aﬂaﬁ1 ﬁ;%';mm-:;:

9% FTA el oo & -
(1) 04N ) DB N (3) 0.004N (#-0164 N

(13)
YO
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17U/115/16(Set-l)

34.

35.

36.

37.

38.

39.

(L= and E,. be the energy values of valence & conduction levels of the
materials, then the value of Fermi-energy level will be : |
af £, aor £, uqell @ s oul g sl w91 Sll A 2wl S

(1) Eg =[Ef'f"*' | @ FEp= & ;E“} (3) Er=JEE, @ Ep=2AL +E)
/ \

Electron hole pairs are produced in intrinsic semi conductor by :

(1) Emission (2) lonization

(3) Doping (4) Thermal energy

OIET-ETd TR B JUIEA HA HEATSHE T B R

(1) Schuld g (2) e ERT

(3) siuw g™ (4) TN FS EN

Pair-production & pair-annihiliation are taking place at the energy value :
TTH-Jeg cr:e.ngm-ﬁﬂ'r:ﬂ‘cﬁ. ﬁﬁ%ﬁv’ﬂﬁfﬂﬁﬁﬂ‘f%?
(1) eV (2) KeV (3) MeV (4) GeV

Current in the semi-conductor is produced by :

(1) electrons only (2) holes only

(3) ions only (4} electron & holes
-ATerd ® EWN I Ble) §

(1) @asi THTLH G (2) daIF B 61

(3) @ad T g (4) FadA e B BN

Which one is the expression for law of mass aclion ?

wrn fran ot Fovw b s g et famnn S @ 2

. 1 2 2
' "} nj; n
(1) 02 =2 @) n,=—- (3) =% (4) n,=—t
L7 My 1; 1j,

'Pure Si at 400 K has equal olectrons & holes with value 1.5x10'°m . Doping
by phosphorus increase M, to 4.5x 1022 m ™. The doped semiconductor is of :

(1) n-type with hole concentration, 1y =5x 10°m™

i - 10 ,1-3
(2) p-type with hole coneentration, ny =2.5x107"m

- 23 .3
3) n-type with hole concentration, 1t = 25x10°"m

3

: 22
(@) p-type with hole concentration, my, =5x 107 m

(14)

gcollegeduniaa
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41.

17U/115/16(Set-1)

400 K W Y& Si % awew wen # gty aw @ 1.5x10°m @) oiwra @
BIU B WX golagd @ 98 TEm 45x102m ™ ¥ 2 F

(1) nTwEy, ay =5x10°m™> B @S9 B WY
(2) peEd-my =25x100m™ e wrger & T
(3) n-eR’A, my, =25x10%m™> B wrww 3 A
(4) p-TIgY, ny =5x10%m™> B =T 3 WY

A 100 W bulb works on 200 volts and another 200 W bulb works on 100 volts

for their normal working. Then the ratio of resistances of 100 W bulb to that of
200 Wbulb is

§% 100 ¢ @1 Few 200 Fec 93 3N GIRT 200 9T w1 wew 100 e WR wid wran
811009 3 & 3 AR &1 20091 dow & mfer & o &

(1) 2:1 Q) 4:1 3 8:1 @) 1:1

In a half wave rectifier which wave $hape is a relabively high level of accuracy
when cut-off voltage V, << ¥, ?

e fReard 3 wRa: deeer 3 AER AWHD S wR B YA ¥ ve Fe
1% &g V, <<V, |

Vﬂ -VU '
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17U/115/16(Set-)

42. If length of emitter, collecter and base are Lg, Lo and Lg respectively in the
transistor then which is correct relation among it :

UR TH TR @ Soavie, WS AR MR B R mE: Lp, Lo 3R Lp ®

o ST WE) WA B
(1) Lg=L¢ = Ly (2) Lp<L-<Lp
3) lyo<Lp<lyg (4) Ly< L < Ly

43. What will be change in acceleration due to gravity when earth shrink by 1% Lo
its radius ? |

(1) “increased by 1% (2) increased by 2%
(3) decreased by 1% (4) decreased by 2%

R A B B 1% o% @) wia, W SEE FEMK T W A g T W
oy @&V Y gRaeH 8

(1) 1% 98 ST (2) 2% 4% A
(3) 1% we R (4) 2% Vi FR

44. The voltage across 10 uF capacitor in the circuit shown in figure is :

10 uF a1ft3 @ 291 AR B o g9fd 13 oRuy § fAmarr &rm

9V == e
. : 20 uF
10 uF ==
. I 20 uF
== 20 pF
(1) 45V {2) 9V (3) 3V (4) 6V
45. Equivalent resistance of the network shown in figure is :
Ry i R T aRey @1 HAgEd i g :
5.60
220
WA
360
100 10Q°
L
10Q 108
' 3) 92Q (4) 184Q
(16)
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46.

47.

50.

51.

17U/115/16(Set-i)

The radioactive reaction’ gy Th** ——— g P08 6a+4f +vy is known as the
series :

(1) Thorium (2) Neptunium
(3) Uranium (4) Actinium

mgﬁ?aa HARABRTT 99 TH™Z —— g, Ph28 4 6+ 4B +y P oot B ®a F P
T |

(1) e ' | (2) “wgfras

(3) g (4) cfeefyas

'l_‘\fhich gate is a Universal Gate (logic) ?

AT Ths e B § )

() OR (2) AND - (3) NOT (4) NAND
Radix of binary number system is : '

TER) I Gghy @ e v &

(1)1 {2) 2 - (3 3 . (4) 4

How many minimum number of satelhtes are required for the Global
communication ? -

Wwﬁmmwmaﬁﬁrﬁwmé?
1y 2 3 (3) 4 @) 5

The order of the frequency of the sky wave is normal communication :
WHRE T A @l T A ghy Py R A Y

. - R X ®) Gz @ TH,
SECTION - I
- qug -l
(CHEMISTRY)
m”)
The particle size in a colloidal solutipn jg; -
(1) 1A-10A _ (2) 10.&. 2000 A
(3) morethan000A () less than 14
(17)

PT.O.
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17U 15/16(Set-1)

Fraged Aaud § v & JHR B 8
(1) 1A-104 (2) 10 A -2000 A
(3) 2000 A 91 wifere (4), 1A ¥ &7
52. Of the following ions, which has the smaliest radius ?
Pretferm soett 3 fraed) w@s o B ¢ ?
(1) K 7 (3) Sc™ (4) Rb™

93. The molecular geometry of thionyl chlorvide is best described as :

(1) trianguiar planar (2) T-shaped

(2) tetrahedrai (4) trigonal pyramidal
ot FARES @ AUfed vafif wde ey @ o B

(1) Fomia o= (2) T-3HR

(3) Todgd (@) B fafrs

54, Which of the following is the major product of the reaction ?
refge & & wlGa @ gya SEg B9 8 2

CH3CH,CH,COH -"_1“;”3”4 excess)

211900
(1) CH3CH2CH2CH(OH)2 - {2) CH::,CHQCHQCHO
(3) CHAClIpCH,CHL0OH (4) CHaCH,C=CH

§5. TFor the reaction A + B » C+ D carried out at constant temperature, the

following data were obtained :

§

[A] - [B] Initial rate

6.1 0.3 15x107 4 Ms !
02 . 0.3 3.0x107 Ms !
0.2 06 12.0x 10~ Ms ™

The rate ex;;reﬁﬂion for the reaction 15

(1) k(AL+1BD
(3) K A)B!

@) k[A][B]
(4) k| ANB

(18)
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59.

17UMN15/16(Set-1)

- Rer 9w w2 G A + B> C + D & Ry e sifee M m -

[A] [B] WRfe &%
0.1 03 15%10~* Ms ™!
02 . 03 . 3.0x10™*Ms ™!
- 02 g 0.6 12.0x10 *Ms ™!
afefear & forg ¥ vemder &

W) kqAI+[B) @) k[AI[B] (@) KAPB] (4 HA[BE
Co- 60 can be produced .bY the bombardment of Co - 59 with : |

(1) neutrons | (2) alpha parlicles
{3) beta particles (4) ganmuma rays
Co- 60 Bt F7a gRT SENRT {1 w1 wawaw &, Co- 59 o
(I} " & Wy (2) T BV @ w
- (3) A o B e (4) T fawo B

Of the following which one has the lowest melting poi
' . t?
Feafofee 4 @ fvwe Pees Tamis 2 2 Se

(1) HCI 2) CCly (3) SnCiy (4) AgCY
g[:[h; f;l% :ah%ch agn;%;%t ;!;‘Cfrpn affinity ?

(1) F (2) Si 3 o - 4) Ca
Cork is a colloid of :
- (a) solid in solid o (b)) liquid in solid

(c) solid in liquid - (d) gas in solid

e proTge §

(a) WiRrs % wire a7 (o) W 4 B

(c) fofRme ¥ diftre (d) wifers ¥ %y

: i m . .
: | I ; t'r tl n a I Sufut] OI ' rema“ls

(1) molarity (2) notmglity (3) formality

[ ]
gcollegedumaa
India’s largest Student Review Platform

el
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61.

62.

63.

64,

65.

The number of nodai planes in a p_ orbital is :

(1) zero (2) one (3) two (4) three
W@ p difded § e o B e e
(1) L= (2) & (3) = (4) &

Which H-like species will have the same radius as that of Bohr's orbit of the H-
atom?

ﬂaaﬁ-mﬁwﬁwwﬁ%m%ﬁwﬁmiﬁaﬁuﬁﬁaw%? -
1) n=2 He* * @) n=2 B3 (3 n=2 L% (4 n=3,Li

The temperature at which a real gas obeys the ideal gas laws over a wide range
of pressure is :

{1) Critical temperature " (2) Boyle temperature
13) Inversion temperature (4) Reduced temperature

mha%ﬁmuqmmawﬂwﬂﬂm&mﬂﬂﬁwmwmﬁﬁ%
WE:

(1) Tefewa agE= (2) aTFe araHE

(3) FEgorT ATIATT _ (4) qSUTS YA )

The ralio of the rate of diffusion of the He and CHy under identical conditions
sure and temperature :

g;]zrrﬁ;mw1 g ;Prrcrﬁf??ﬁ‘a FodreeA @ ewd He AR CHy @ RS9 e B

I & |

(1) 4 (2) 2 @ 1 | (4) 0.5

For the chemical reaction : |

3X(9)+Y{g) == X3Y(g)
the amount of X3Y at equilibrium is af fected by :
(1) temperature and pressure (2) temperature only

ure only (4) temperature, pressure and catalyst
1) press J |
:1111:% BB 3X(g)+Y(g) = X3YQ) 3 Bru gedredfims W X;Y A A=

2.
e 91 2) DI T R

(4) TEEHE, T AR Before T

(20)
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66.

67.

68.

70.

17U/115/16(Set-1)

Which of the following solutions will have pH close to 1.0 ?
Pt & 9 6w S &1 pH 1.04 wdg & ?

(1) 100 ml of 0.1 M HCI + 100 ml of 0.1 M NaOH

(2) 55 ml of 0.1 M HC! + 45 ml of 0.1 M NaOH

(3) 10 ml of 0.1 M HCI + 90 ml of 0.1 M NaOH

(4} 75ml of 0.2 M HCI + 25 mi of 0.2 M NzOH

. The elevation of boiling point of a solution of 13.44 g of CuCly in 1 kg of water

using the following information will be (mol. wt. of CuCl, is 134.4 and
ky =0.52km™) ? '

. , i
P e 7 7@ T g7 1 Kg o Y CuCly @1 1344 g & HIeY7= & TelldY-

A1 M AT BT (CuCly, 1 Hifager.3c 1394 @R k, =052 km™") -
(1) 0.16 (2) 0.05 3) 01 4) 02

The standard reduction potentials at 25°C for the following electrode reactions
are S

Frer gagTs PR @ R 25°C W &sd dearm Ufmm 2
Zn**(ag)+ 2e” = Znis)~0.762 Cri*(ag)+ 2e™ == Cr(s)~0.740
Cu®*(ag)+ 2e~ = Culs)- 0.434 Fe™ (ag)+2¢ <= Fe?*(ag)—0.770
Which is the strongest U;.:idﬁ';'ing agent? -

TG Wi afaegfiT gue sy &9

(1) zn® [ o (3) Cu*t @) o

: AT 0
The ;’aiue of log & for a rgralt_cll'nn_ As= Bis (given A¢cH,o0 =-5407 k] mol™!,
AgSponk =107K™", R=8.314 JK™ o™, 2.308 x 8 314 x 208 2573 .

e ::]tﬁ-'rfﬁm A+ B o fomdogd 4oy B (o & Afﬂgm =~54.07 1] mol
AfSyagx =10JK™", R=8314 JK™" moi™", 2,303 x 8.314 x 298 = §705) -

ms (2) 10 3 T - @ 100

The rate of physisorption incieases with .

(1) decrease in t??f?mn-“e' #ma..\. L @Mpeayre

(3) decvense i pressire () degreasein surface g,
(21)

D
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17U/115/16(Set-)

71.

T2.

73.

14.

73,

16.

e i i dedr € ¢

(1) 9T %S & |y (2) AUEE 9T @ |

(3) TI7q U & g (4) TXHE R oed @ 9y
Which of the following has unpaired electron (s) ?

=1 4 4 e o ags s & 2 i "
(1) N 2) h B O (4) O

Which of the following has — O - O - linkgage 7

Pl a9 fms -0 - O-foiwa & ?

(1) Hy5,0 (2) H,5,0;4 (3) H35,04 (4) 2550
An aqueous solution of Na,5,03 on reaction with Clp gives:
Netp$,0, B TaeRt Wi Cly @ 9y AfAfha He o3 8w & &

(1) NayS;0, (2) NaHSO, (3) NaCl (4) NaOH
The number of P - O - P bonds in cyclic metaphosphoric acid is :

(1) zero (2) two (3) three (4) four
WEied ARG thie ¥ P~ 0 - Pdig ol 6E& R

(1) G4 (2) < (3) &= (4) AR

Me,SiCl, on hydrolysis will produce :
Me,SiCl, T R I Bl & |
(1) Me,Si(OH)y (2) Me,Si=0

(3) [-0-5iMe; -0, (4) MeqSiCH{OH)

When MnQ; is fused with KOH, a coloured compound is formed, the product
and its colour are .

(1) KyMnQy, purple. (2) KMnQOy, purple

(3) MmOy, brown (4) Mn30y, black

o0 Muoz—aﬁxo.ua%qum%mm%, UF Foe HHNYE T 8§D
(1) KoMnQyg, I (2) KMnQyq, &1

(3) MnoOs, 'K (4) Mn3Oy, B

77 Ambng the following ions which has the highest paramagnetism ?

"

o gt 3 Pl St e AT g7
(1) [cr(H200 oo [0l @ 0, @ Pntion

(22)
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81.

17U/115/16(Set-)

A solution when diluted and boiled gives a white precipitate, on the addition of
excess NH CI| NH OH, the volume of the precipitate decreases. ldentify the
precipitale which dissolves in NH4CI | NH4OH

UF WiegeE $I R SRege N dige Ry W £ o e wwe WRifide ea R
Wi AT NHyCl|NH OH 3t % famr o € @, Sifdce @1 aregm o o 2
AR gediie 8 o &1 NH,CI | NH,0H % Raed & o9 7 it &

(1) Zn(OH), () AIOH), (3) Mg(OH);  (4) CalOH)

The compoind insoluble in acetic acid is :

(1) calcium oxide (2} calcium hydroxide

(3} calcium oxalate (4) calcium carbonate

yHifes e 3 gifeqEa FdUs #

(1) Bfowaw sifmgs (2) dftaa erEsiaass

(3) dfewm sfaorde (4) Hfm waRe «

I:ers- which can be interconverted through rotation around a single bond
e:

(1) conformers (2) diastereoisomers

(3) enantiomers (4) positional isomers

e e de @ - NI 3 gm OF omad @ goverade fw
aaar & 98 8

(1) FmHd (2) wrgetrfRavamgsiere:
Which of the following will have'lédst hindered rotation about the C - C bond ?
(1) ethane o (2) ethylene
(3) acetylene ) (4) hexachiary ethane
fFrforfya 4 ¥ #l° C-C A8 & wWay § 9 9§ 39 Vv aifyg gy 2
&) 3% 2) g -
(3) WherdE . . (4) SR Fo
An enantiomerically pure acid is treated with raceifiie 3
having one chisakextier: THe € e il b Misyre of an alcoho)
(1) optically active mixQi e 2) pure B —
(3) meso compettT () racenmic ixture
123)

P.TO.
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85.

86.

T=RmARES) Wik Iw e BRd HEE del Qe—cﬁ‘-ﬁ 3 Wawwm B & uw
fibay awmar 81 g%eR a7

(1) sFfemen (e PBuu (2) AR TARYER

(3) Wl Afs - (4) AfE P

Hyperconjugation involves the overlap of the foliowing orbitals :

f=ferfys aifffecy @ afevdy ¥ BRI AHT &

1) o-0 . D o-n (3) p-p (4) - n
i-chlorobutane on reaction with alcoholic potash gives :

(1) 1-butene (2) 1-butanol (3) 2-butene (4) 2-butanol
l-ﬂ%%?wbﬁmmﬁwmmﬂwﬁz | -

1) 1= - (2) - (3) 2. (&) e
Identify from the following reagents, the one which can easily distinguish
between 1-butyne and 2-butyne : .

(1) bromine, CCly (2) H,,Lindlar's catalyst

(3) dilute H,S04, HgSO, (4) ammoniacal CuyCly solution
frfafod # 3 oY sfadie O TEIFY S ARID O 1-geTeT T 2-dEE &
(1) &=, CCly (2) Ha F%-m?ﬁ IJORD

(3) a1 H,504, HeSO, (@) sfEa CuyCl; O

A solution of (+) 2 - ¢hloro — 2 - phenylethane in toluene racemises slowly in
the presence of a small amount of $bCls, due to the formation of :

+ (1) carbanion (2) carbene  (3) freeradical  (4) carbocation
ShCle @ & AN A ToRefy §, erged ¥ (+) - 2 - W - 2 - GRTEH @
ﬁmaﬁrwxﬂm%’m f= @ Tigs @ BN
(1) PfRA {2) ®Td (3) T YRFA  (4) wbeTaA
Diethy! ether on ht.almg with cone. HI, gives 2 mul of .

(2) iodoform
(4] methyl iodide

(1) ethanol

3 eth 110d1d£ ‘
(3) ngﬁwmmﬁ'ﬂmm’*"a & o @& 2 mol 37 -

(2} sNzRwiA T
(4) W s @
(24)

(1) gorte T

(3) i FAEES &

[ ]
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92.

17U115/16(Set-l)

Phenol reacts with bromine in CS, at low temperature to give :

(1) m-bromophenol : (2) o-and p-btomophenol
(3) p-bromophenol _ (4) 2,4, é-tribromophenol
CSy ¥ fre am = Wt a0 B arr B @ e -
(1) m-aABTer ' @) o-aur p-AEETE

(3) pAFIHT (4) 2,4, 6-ZEARART .

In the redction-of p-chlorotoluene with KNH, in liquid NHj, the majer
product is ¢

(1) o-toluidine  (2) m-toluidine  (3) ptoluidine _(4) p-chloroaniline
%9 NHj %, p-a@RIcifes 1 KNH, & wer fbar ¥ ovra 'weq1e 81 -

) oTET () meAgHET (@) poigE (4) p-aARITAER

Bfa-nzene diazonium chloride reacts with phenol in a weak-basic medium to
give :

(1) diphenyl ether 2 p-hydroxy azobenzene

(3) chlorobenzene (4) benzene

G4 G 7R § I SRS g, qﬂ?ﬁaﬁmmmm
(1) sEofa $r (2) p-eTERTadl T

(3) TEAREOA= (4) ¥

When acetaldehyde is heated with Fehling, it gives a precipitate of ;

i3} Ca (2) €0

(3) CuyO (4) Cu + Cuy0O + CuO
mmﬁmﬁmnﬁmi o T Y IO R

(1) Cu @1 ; . | ) Cu0 @

3) CuyO &7 (4) Cu -+ Cuy0 + CuO

A mixture of benzaldehyde and fomlaldchyde on heating wit

solution gives : sl et

(1) benzyl alcnhnl and sodium formate .
(2) sodium benzoate e and me

(3) sodium benzoate a andsodlllm formate
(4) benzyl alcahol and methyl alcong|

(25)
| PY.O.
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duifesgige aon widfeearss @ s @) wiela NaOH ReTs @ W ™ &3 W
2 -

(1) St qm'ﬁ:a e ——
(2) |¥TW dwie gen WS CewTEe
(3) WYH FTe qon WfREA B
(4) ARSI TeIES U Aferer genled

93. Acetanﬁde is treated separately with the following reagents. Which of these
would give methylamine ?
(1) PCls (2) NaOH +Br,
(3) Sodalime (4) hot conc. H»50;
Py ofaiat @ wr gReHTES gus-gers fimr o [ LIPS
qm ?
(1) PCls (2) NaOH + Bn
(3) wLrEH (4) T Wiz HySO4
94, Extrapure N, canbe oblained by heating: !
(1) NH with CzO (2) NHNOs
(3) (NHg),CnOy (4) BafNs),
ey ot e, sfARE G@ Ny BT W<t 1 o §Ea &
(1) NHy @ @RICu0 (2) NH3NO;
@ (NHahCnO7 (&) BalNa),
95. Geometricel shapes of the complexes formed by the reaction of Ni** with Cl,

CN~ and H20 respectively are :

[1] Mtahedral, Letrahedral and square planar

€

o planar, tetrahedral and octahe.ﬁtral
1a¥ -

\
(.3) . ahedral, square planar and octahedral
(4) o€ : (26

[ ]
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Ni®* & W™ Cl, CN~ el H,0 @ fvr g1 1 et & sarfddia smor w9
?

(1) SERTERT, TETEF WU TR A

(2) CRTERE, WERR @R aun slfaerege
(3) WWWWMW
(4) ATFERFT, WERR R T lfTeRee

Passmg H,S gas into a mixture of Mn®*, Ni2*, Cu®* and Hg*™ in an
acidified aqueous solution precipitates :

(1) CuSand HgS$ (2) MnS and CuS

(3) MnS and NiS " (4) NiS and HgS
IAFT Sl Rermt ¥ Mn®t, Ni**, Cut oar Hg?t B B 3 4o, M 3
waTfEa &M WY Y W BN

(1) CuS @om Hgs (2) MnS i Cus

(3) MnS =T NiS : (4) NiS @or Hg's

The pKa of aspirin is 3.5. The pH of gastric juice in human stomach is nearly 2-3
and the pHin the small intestine is nearly 8. Aspirin will be ;

(1) unionized in the small intestine and in the stomach

(2) completely ionized in the smalt intestine angd in the stomack.

(3) ionized in the stomach aTnd almost unionized in the smalj intestine.
(4) ionized in the small intestine and altrost WiTohized in the stomach

mmpms.sﬂrmm(ﬁt)#m?ﬁ@ﬂpHM$a1mm

BY&) 3 ¥ pH T 88 1 YRURe gy -
(1) Eﬂammw%

(3) SR & AP W S o ¥ =y e

(279,
PTO.
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17U/115/16(Set-1)

98. Equai weights of methane and oxygen are mixed in an empty container at 25°C.
The [raction of the total pressure exerted by oxygen is:

25°C WY UH Wt e N THEMR B AR e Sfiwiew & [ idar aan
HRIGH 11 GA AW BT HY BRI

1 ] 2 1273
(1) 3 (2) = : (3) 3 (4) 3508

99. The electrons identified by quantum numbers n and 4

d6ieq TE payr [ g angefenEs sougn
i) n=4,1=1 (i) n=4,1=0
(iii) = 3,1 =2 (ivyn=31=1

can be placed in the order of increasing energy as
ged §U ol B HH 4 ¥ W G 8
(1) iv < ii <ifi <i @) iiciv<i<iii
(3) i<iii<ii<iv (4) ii <i<iv<ii
100. The methods mainly used for the extraction of Pb and Sn from their ores,
respechively are:
(1) self reduction and carbon reduction
(2) self reducton and electrolytic reduction

(3) carbon reducton and self reduction

(4) cyanide process and carbon reduction

pbﬁsnﬁwmﬂwﬁ%Qgﬁm:ygaﬁﬁﬁﬁm:ﬁ:
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SECTION - ill
qvE - il
(BIOLQGY)

(o faem)

101. Which of following is the correct pathway of absorbed water in the root of
plants ?

(1) Soil water — root hair cell — cortical ce[ls —» pericycle - passage cells —»
xylem :

(2) Soil water —» root hair cell —» passage cells — cortical cel]s ~» xylem —
pericycie

(3) Soil water — root hair cell > pencycle — cortical cells —» passage cells —»
xylem

(4) Soil water — root hair cell —» cortical cells — passage cells - pericycle -
xylem

?w#ﬁaﬂa-wmhﬁt mﬁmqﬁmﬁ ot 7 QYT fhar RN

?

(1) 2 9a - oRm PE > P IR - WNasd -» T *fke -
TTgew (7T5)

(Z)WWﬁWﬂﬁmﬂ@mmﬁﬁﬁmmawm
— IRTEF

3 waaamﬁmammﬂmmﬂm_,mm_,

Ee (3T0)

(&) T T — TR DR > P e 5 P, YReTEIA
e (3T%)

102. Which of the following element plays an lgmnrfnnt role in biological nitrogen

fixation ? |

(1) Copper - (2) Molybdenum

(3) Zinc . (4} Calcium

i g Rerdaer § ST eyl qftveT P @ 2

(1) s - - (@2y iR

() @ (4) ooy

"5

(29)
P10
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103.  Which of the following pairs is correctly matched ?

104.

(1) Ribosomal RNA — carries amino acid to the site of protein synthesis
(2) Transcription — process by which proteins are synthesized
(3) Translation —» procéss by which mRNA synthesis takes place

(4) Anti codon — site of tRNA molecule that contains complementary bases to
the triple code on the mRNA

e & @ e grd w8 wE A gafaa 2 7

(1) VRIS R0 To Yo — IS TR 3 Torr § ¢l 3 1 @I
2) IO ([ETTTRY) — Ui S gR1 SIEN BT Eeeeml B @

(3) TR (F9FOR) > FF SfFar §RT mRNA &1 @eeiyy 86 8

(4) vy voE (CEOETEF) > RO tRNA @ I &7 98 @4 el [E 4N d.
HevMiEs mRNA W yRae @R wax) ot #

In a typical complete, bisexual and hypogynous flower, the arrangement of
floral whorls on the thalamus the outermost to the innermost is :

(1) Calyx, Corolla, Androecium and Gynoecium
(2} Calyx, Corolla, Gynoecium and Androecium
(3) Gynoecium , Androecium, Corolla and Calyx

(4) Androecium, Gynoecium, Corolla and Calyx

vE mredl el w R (@wefei®), sivam gaa 8 F Af= yax @ qw
R @ FHITAR GG U A1ER W IR A AR E

(1) argree g, & O, RN, S
() wrErEe 39, & g, FRT, GHT
(a) . T, 9 39, WEEE 4
&) i, AT, T 9 SR g

(30)
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105. Which one of the following is not an autcimmune disease ?

(1} Grave's disease {2) Addison's disease
{3) Rheumatoid artliritis . (4) Insomnia -
A F-r A w7 G8f ] ?

(1) 3w | () TRgE R

(3) st Wi (wicTee smfgRw)  (4) sTemRD
106. Hydroponicsis : |

(1) Cultivatitm of plants in pure water

' {2) Growth of plants towards water

(3) Growth of plants awayl from water

(4) Soil less c;rftivation of plant

ETggraay &

(1) 9% &@ & duif o 2 s

(2) T A Aw e P Ay

@) @ g¢ 9 A o

(4) e Fadrr et Y @ aen
107. Endospermic/Albuminous seeds are found in :

(1) Orchids (%) Peas (3) Beans @) Cereals
qosIvatHE / Qe St arar st @
(1) s ¥ @ "% @ EE (@) o
108. Thesmallest livit_mlg_ cells with cell wall, capable of growth and division are -
(1) viroids (@) askania,
(3) mollicutes (PPLO). .- (4} prions
fee g BT o R At § AT 9GO o 2y
(1} RiTEH . ~42) Sy,
(3) mRrgEs (PPLO) R
31y
P.T.0
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109.

110.

111.

112

Mosquito day is celebrated on :

{1} 20th August : (2) 29th August

(3) 30th August - (4) 14th August

AT Qe A=) wia &

(1) 20 3FRa &, (2) 29 FTET BI

(3) 303 @ (4) 14 3% @I
Fermentation to produce alcohol by Yeast (Saccharomyces) is due (0 :
{1} Amylase (2) Invertase

(3) Zvinase . (4) Galactase

e, ® F W ZRT fvqU ¥ UEBIEA & SECH Bl €

(1) TaFe ) FHEew

(3) TEhA k (4) HowRF
Laboratory weed /guinea pig of pl.ant kingdom is :

(1) Neurospora (2} Chara

(3} Aspergillus | (4) Penicillium

SIS ERYAAT/9TeT e & wgfer e & 2

(1) R (2) @

(3) TERRAT (4) AfsERferm

Age of algae/the period of algae in Geological time scale is :
(1) Ordovicianera (2) Silurian era

(3) - Pre-cambrian era (4) Jurassic era

g B A/ HTE wwa AR @ R TR WA HT i B

_ (2) RIRTT orer
(1) SRR T 9) R
: . HTcA
(3) S o (

(32)
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113. Vascular cryptogams and botanical snakes of the plant kingdom are ?

(1) Pteridophytes 2) Tracheophytes
(3) Angiosperms | (4) Spermatoph}rtes
- Hagl fFert= olv aRy o @ gieafos 6@t # 2
(1) R | (2) sReureEew
(3) e, Qo) (4) FOCTHTECH
114, Secondary growth and lateral roots are found in which part of root ?
(1) Calyptra region (2) Root hair zone
(3) Zone of mature cell (4) Zone of elongation
Wﬁﬁ_ﬁﬁﬂﬂmﬁ%ﬁﬂﬁaﬁvmvﬁmﬁ-wﬂé?
(1) Sz & | 2) TR &
(3) uRggEs o &y (4) <ratexo 3] &3

115. In Kranz anatomy, the bundle sheath cells have -
(1) Thin walls, many intercellular spaces and no chloroplasts
(2) Thick walls no intercellular spaces and large number of chloroplasts
(3) Thin walls no intercellular spaces and sevéraf chloroplasts
(4) Thick walls, many intércettindar.spaces and.few shloroplasts
e i e 4 dahe B § -
(1) wach BRell, aga sty sprme-ga oIk m«%m) TR
(2) wré) faferdt, mem@mm#ﬁm
(3) i i, FRPIRIAN S R st af o g

(4) =& MR, @Wﬁﬁmummmgﬁﬁm
116. In plant cell which ™ Ofgemelle secretes pectin, hemicellujoge

microfibrils of cellulose to make Cejlwall 5 - Proteins and
(1) Endoplasmic retictlism- (2) Plasmaimenbrap,
(3) Dictyosome (4) Glyoxystnes
(33)
.TO.
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137,

118.

119.

420. Which of

UEd ERTAT N dlEsn e dfded, efRigers, OeF 3R Sgde B
HSH B ATH Bl AEY G g, of B fife @ P s § 0

(1) siadal) wiferm (2) @ e

(3) fefaearamy (4) TEgalTRNRIN

Streaming of the cytoplasm within some living cells is kinown as

{1) lomeostasis (2) Cyclosis

(3) Diffusion (4) Osmoregulagon

G @l & sivcy GIRTH G T FaR G FETEe B Q@1 T S 8
(1) el fauleai) (2). ShagETUTY [EgEaid)

(3} famor (4} FTERTINA ([TRTAIH)
Which of the following is nuiritionally essential amino acid for humars 2
(1) Arginine (2) Asparlic acid

(3) Glycine (4) Phenylalamine

frey & | 1T A o e @ [y 9 @ glel ) ereeEw B 7

(1) It (2) ARES 3

(3) TEATFH (4) et

During photosynthesis when DGA (3-phosphoglyceric acid) is changed info
phosphoglyceraldehyde. Which of the following reactions occur ?

(1) Oxidation (2) Reduction

(3) Electrolysis {4) Hydrolvsis

garrEsaEe o uihar B dRM W9 DGA T (-wrPfadREs o) doa ¥
sroRanieeEse ¥, fre § ¥ w3 afikar e & 7

(1) SiFdrao (2) AwETH
3) < arae R (4) ETERIIRIRTT

the following vita mi:'ts is used in ETS (Electron Transport System) ?
e Shalamine (2) Thiamine (3) Riboflavin  (4) Ascorbic acid
ﬁ;ﬂﬁ%m‘m—ﬁ‘lmﬁl‘s (gaaEtT FIIIE §3) § Wi g & ?

: e 3) IEE T s LT
T s ( S

(34)
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121. Cuﬁed sequence of cellular growth stage is :

(1) Division -~ Differentiation - Elongation
(2) Division — Elnngaunﬁ - Differentiation
(3) Differentiation — Division - Elongation
(4) Elongation - Differentiation — Division
BB gl sraven w1 Wat 597 2 ?

(1) e ~ fves - drdfavor

@ foarer — Ao — R

(3) Roea - femem ~ Snffavor

(4) dreidRyr ~ freT — fave

122. The overall goal of glycolysis, Krebs cycle and the electron transport system is
the formation of ;
(1) Sugar
(2) Nucleic acid
(3) ATP in small stepwise units
(4} ATP in one large oxidation reaction

wﬁagwmmmﬁmmmwm%msﬂﬂiﬁwmam
H AT R ?

(1) oaw
(2) Sf® 3=
(3) ATPBIE) 33130 @ #9 4
(4) ATPJ8q &9 A IHT S &
123. In plant cells, the number of Golgi bodies increases during :

(1) Food synthesis | > (2) Cell division
(3) Translocation - i (4) Respiration
qre R T T8 B ey D e e 2
(1) @=a ¥ (2) @?ﬁﬂ fawrTT
@), T )
(35)
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124. Which of the following hormone is similar to animal steroidal hormone ?

(1) Auxin (2) Gibberellin
(3) Ethylene | (4) Cytokinin
=i % & oF-a Wl oy et Rvgee | s g9 # 2
(1) 3fefr (2) formfer
(3) gemrgfer (4) WEeERE
125.  Which of the following type is a rapid type of absorption ?
(1) Active absorption (2) Passive absorption
(3) ‘Continuous absorption (4) Pulsating absorption F
R A 8 $1H-97 TR GRY TGR F1 a9 3 ?
(1) e (Xfdes) sgemo (2) oS (AR} sraeTor
(3) fA=ax araeigor . (4) gFBfET SrawEey

126. Which of the following is correctly arranged order of taxa in term of their
increasing species number ?

(1) Orthopoda > Mollusca > Protozoa > Fishes -

(2) Orthopoda > Protozoa > Mollusca = Fisl:les
(3) Orthopoda > Mollusca > Fishes > Protozoa

{4} Mollusca > Orthopoda > Prolozoa > Fishes

o 21 G # 9 B Wy PR ¥ e a7 98 o arw 8 7
(1) aifeifrar > HreRa > RIS > WO

() Setirer > RG> A > TEE

(3) m’uﬂﬁm?ﬂm1>m:>mﬁ‘lﬁﬁ‘dﬁ

(4) AT > JAfTae > WS > Hoel

427. Maximum biodiversity of endemic amphibians in Indian sub-continent is found

in

2) Western ghat .
(1) gunder Van delta | (2) Western gha
3) Andamen Nicobar (4) North-East India

(36)
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WG SWHEEIY # IR I 9 wfe SweR @ sl Ste-fafer @

(1) =R T I (2) Ul =re
(3) IreArFT FreRR (4) SR-gd Ana
The B-diversity is :

(1) The diversity between communilies

~ {2) The diversity between ecosystems

(3) The diversity within population

(4) The diversity within community

p-fafderar 2 -

(1) w9 & €9 Rk

(2) IRReIfee! &3 & 49 Rl

() I B s Rifdery

(4) vy & arav RAfar

The connecting link between reptile and mammal 35 :

(1) Latimeria (2) Lepldcslren

(3) Seymouria (4) Lycaenol:;s |

R T Ternlt o ey e &

(1) wfeaRa | " | (2) *RESRRT

(3) S a (4) TP

Evolvement of Aves fromxepiile is an E)Eﬂ_f:nE]E of :

(1) Macroevolution (2) Megaevolution

(3) Microevolution (4) RebﬁEMWIUﬁﬂn

gy & geitey W7 R W@m i,

() FqRIW A Q) ¥ R

(3) g Raare @ (@) P R
\! 37)

2X.0.
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131.

132.

From among the following maximum biodiversily found in :

(I} Tropical region

(If) Temperate region

(IIl) Coral reels

(TV)Ariz zone

(V) Desert area

Choose the correet option :

(1) §and III (2) Iland IV () ILIVandV  (4) Only 1l
o Rl g & H & afeaw g ffdear g o 2

() owr@fEadty &5 3

(11) odficver a3 ¥

(HI) e Ter

(V)= &= ¥

(V) et 83 4

Wer flde & Y S - ,

(1) TaiR1I @ naRv () LIVIRYV (4 Taa I

[n Whittaker's five kingdom system, characteristic features of Kingdom
Animalia among the following, are ;

(I) Heterotrophic and Prokaryotic (I1) Mudticellular

(111) Eukaryotic (TV)Heterotrophic and Holozoic
The correct combination of feature is :

) Liand L () LMMandlV @) LIMand IV @) Liland IV
RrargR M1 Ul 0T TR ¥, ooiifen @ siffemeors fadwar € -

il
L e wd MRS (i) ‘ﬁ“ﬂ'@aﬂ?
(IV)ERIFHPS o Beioges
(I“}Waﬁ I8
il

i gy Rl 2} LRIV @) ILIERIV @) Laswmv

(38)
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133. "Competitive Exclusion Principle” is also known as :

134.

138,

136.

(1) Dollo's Law

(3) Gause's Law

(2} Allen's Law
(4) Gloger's Rule

wrreuters suas g @) e AW | o T o 2

(1) Srlt &7 Praw

(3) ¥ &t gy

The sleep-wake cycle is regulated by :
(1) Melatonin |

(3) 5-methoxytryptamine
w99 9% fafie e 2

(1) e grr

(3) S miRhfEerns gr

CO; islargely carried in form of :
(1) Oxy-haemoglobin

(3) HCO3-ion

(39)

(2) T B
(4) ‘W-mﬁm

(2) Catecholamine

(4) Sex steroids

&)Mﬂmﬁw
(4) oI &S g7

(2) Carbamino-haemoglobin

(4) Dissolved state in blood

% BT % COy P B v &t e ach @

(1) 3T St Q) BRI

(3) HCO,-¥ma% (&) T MeRer e
Electrolytes are w%m

g @) Descending loop of Herle
(3) Ascending loop of Henle™ @) DCT .
gy sy PR $-:

(1) PCT ¥ a(2)-'%’1?"f*3rdﬂém

() ¥t @ ol o 9 DCT

PTO

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



17U/115/16(Set-l)

137. Which one of the following is incorrect statement ?
(1) Glucagon increases blood glucose level
(2) Prolactin stimulates milk secretion
(3) Aldosterone increases blood Na®* level
(4) Calcitonin increases blood calcium level

PrfaRes 3 @ S 3o w8 78 8 ?

(1) T@TH TR TA WR B a@GRN 8
(2) wdfres g Tma @ ARa B
(3) TeeRedt T Na* &R & Jgral @

(4) S o Sfeaad wWR P 98T §

138. A structure common to both, earthworm and cockroach is :
(1) Ommatidia
(2) Tracheae
(3) Dorsal nerve cord
(4) Ventral nerve cord
YT g fareroee T ¥ gAM Wea el w
(1) afes! @l |
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139.  Match Group-I with Group-11 and select the correct answer -

Group-1 Group-I1
A.  Amphiblastula 1. Housefly
B. gphm 2. Jelly Fish
C. Redia .~ 3. Sycon
D. Wriggler | 4. Liver fluke
| . 5. Mosquito
- (1) A-3,B-2,C4,D1 (2) A-3,B-2,C-4,D-5
(3) A-2,B-3,C-4, D-1 (4) A-5,B-3,C-1,D4
Tl @ el W Fom PR e wet IR #1 ye AR -
HE-1 -
A R 1. #Had
B. FIg 2. O fber
C. ¥ 3. WgHq
D. frer 4. e woqw
5. wOv
(1) A-3,B-2,C-4, D-1 @) A-3: B2, €4, D5
(3) A2,B-3,C4, D1 * (4) A-5,B-3,C-1,04
140. The metabolic disorder, Alkaptonuria is caused due to defect, g . -
(1*] Glucose-6-Phosphate ; (2) Phenylalanine hya.,,x ] e
(3) Homogentisate-1, ;Z;dioxygm (4) Tyrosinase Ylase
T PR, YREIR Fe Roves& 2vy getmenn s
(1) ToPE-6-BIewe (2) BfECeR Koy,
(3) SFURIVEL ZIININ oy ey
(41)
ATo
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141. - Match the metabolic pathways in Group-1 with the corresponding enzymes in

Group-Il :
Group-1 Group-II
P. p-oxidation 1. Ribulose bisphuaplﬁte carboxylase
Q. Glycolysis 2. Phosphofructokinase 1

R. Gluconeogenesis 3. Phosphoenole pyruvate carboxykinase
¢. Calvin Cydle 4. Thiolase
5, Fumarase
(1) P-4,Q2,R3,55 (2) P-3,Q-1,R-5,52
(3) P-3,Q2 R4, G-1- (4) P-4,Q2,R-3,651
W.J#wmqﬁfaﬁw-n # vt v & frer @i

wie-1 we-ll
. i
p. B-aiERTST 1. <rEgan fREEEe EACHET
1
Q rATgPT 5 CHTEpTBEEITE T
3. GrEPEAd TEAT FratfraesET
R W
S, Fiead &% 4, frdver
5. THRS
' R3,55 @) P-3,Q-1,R-5,52
2., =1
% e 9, R4, 51 (4) P-4,Q-2,R-3,51
(3) p-3; s i the phenﬂ or genﬂ Expl‘EB-Sig:HU;CUT without chang{es n
: -
When d‘ar:id WA sequ the phmomenun is
142 conte! ——
ol ratio™ S
M o " - ' (4) Epistasis
» nﬂ
Ohal (42)
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B & o 3 e B wed £
(1) =ee= 2) Zoifew

P.  African sleeping sickness 1. Virus

Q.  Rocky mountain spotted fever 2. Trypanosoma brucei
R, Mumps 3. Wuchereria bancrofti
S.  Filariasis 4. Rickettsia rickettsii

9. Leishmania donovani

(1) P-3,Q5,R2,$1 @) PLQLRLSA

(3) P-2,Q4,R-1,53 (4) P-1,Q5,R-2,84

-l @ U7 ) wgE-ll #Ii‘ﬁ@ﬁ.ﬁﬂﬂﬁ?mﬁwﬁaﬁm:
-1 | E-1I

Q I AT WS B 2, grsd5ra gl

R. w5 3. 7RRY TR
S wreRyR 4. Reefirr Rocd
S, s S
(1) P-3,Q5R281 . (2) P-2,Q-1,R-1 54
(3) P-2,Q-4,R-1,53 - 4) P-1,Q-5,R-2,54
(%) |
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144, The direct proof of relation between genes and enzymes came from the
discovery of :

(1) In-born errors of metabolism in human

(2) Sexual phenotype in insects

(3) Metabolic pathways in fungi

(4) Gene regulation in bacteria

LIS ﬂwﬁswaauzﬁmﬂiivaﬂmwr%ﬁaﬂ @ W U gl
(1) A & T o ST A

(2) @rei # 9 BATEd

() waw # gAUET A

(1) FRa ¥ o R

o , "

145. The diploid chromosome number of an prgamsiis 2n = 14. What would be the
L] : ; ) 7
evpected chromosome numbers in a nullisomic

Wuﬁﬁaﬁﬁjﬁmaﬁmmm=14mﬁmﬁﬁﬁmﬁﬁﬁﬁq
& F=1 B 7

() 12 2) 13 3y 15 (4) 16
146. Which one of the following is free living photosynthetic nitrogen fixer ?

(1} Frankia (2) Clostridium

(3) Rhodospirillum (4) Rhizobium

Erffm ¥ | Bwl B-ferdr PreRiARE Arggrer fhaR 8 7

(1) ®fdar ' (2) FEARATETY

(3) derRafRe (4) Ranfaam

147. Inallopatric mode of speciation, a new species forms due to;
(1) (;eographical isolation

) Genetic drift ._
vion of a few fertile individuals that cannot mate with other members
Forma

f the same species living I the same geographical area
U

(4) The f ormation of alll}pol}rploid condition

(44)
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m$mﬁ@ﬁﬂ‘mﬁﬁ#wﬁﬁﬁmwﬁﬁﬁ§:
(1) Rranmfyss seaRs
(2) Mfes fyge

(3) 7w wehww AT o1 v, @i o @ L
i g i & A H B 9@ G

(4). yerdffereiias wdwr w1 T :
Cnmsidé.r the following statement and choose the correct oplion :

(1) Diabetes insipidus is caused by hyper secretion of vasopressin
() Graves' disease due to hyper seﬂeﬁon of thyroid hormone

(Il) Adrenaline also known as epinephrine I

(IV) Oxytocin synthesized in posterior lobe of pituitary gland

3 11 and 1 are comsot (2) 1,1 and IV are correct
(3) 1l and III are correct (4) All are correct

| PR @l ox ReR w qur we Ree @1 9 @

1) WA @ If-wE B DR s iR e
m)ﬂmﬁmmiﬁaﬁr—aﬁéwﬁmﬁw@mﬁr
(lll)qﬁﬁeﬁﬁﬁ‘tm*ﬁ##ﬁwm?i

(V)R uR @ IR A X srediofe w3

(1) L IaRIadh & ) LIMaIRV o e -
(3) ITsik vl & 4) & a8t §
Joint between atlas and axis is : '-
(1) Ball and socket joint (2) Pivot joint
(3) Hinge joint | (4}-! Angular joint
Tow R d M
(1) T T e e @2) dee e
(3) fe= wamge ) TR e
(45) |

P.T.0,
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150. Match Group-I with Group-1I and select the correct answer :

Group-I Group-Il
A. Touch 1. Meissner's corpuscles
B. Cold 2. Ruffini's corpuscles
C .Heat 3, Pacinian corpuscles
D. Pressure 4. Krause's corpuscles
5. Merkel's discs
(1) A-5,B-2,C1,D-3 (2) A-5,B-3,C-2, D4
(3) A-1,B-4,C2,D-3 (4) A-1,B-2,C-5D3
el 3 eIl @ T e @it T wE e’ W1 A B
-11
-1 Rl 1 ]
A, Y 1. e S
B. ¥« 2. EAEaI
C. M 3. g BTN
D <d 4. W DD
. 5. A (¥
(1) A-5 B2 C1, D-3 (2) A-5;B-3,C-2,D4
(3) A-1,B-4,C2,D-3 (4) A-1,B-2,C-5,D3
(46)
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